

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation INKCRTO

INKCRT07

ADDRESS:CORRESPONDENCE TO ATTENTION OF BETTY FRANCISCO

304-558-0468

RFQ COPY TYPE NAME/ADDRESS HERE Superwarehouse Gov 739 Design Ch Stile 500 Chila Vista, CA 91911

DATE PRINT	FED (%)	TER	MS OF SAL			SHIP	VIA)B		FREIG	HTTERMS:
09/25/	2006	٨	EF 30			Fed Ex	(Desth	rection			
BID OPENING DATE:		10/24/	2006				ВІ	D (DPENING	TIME	01	:30PM	
LINE	And the second	VTITY:	UOP	CAT NO		ITEM N	JMBER		UNIT	PRICE		Al	VOUNT
			-	EST F									, many many many many many many many many
·	THE PU	RCHASI	NG DI	VISIO	N IS	SOL	ICITIN	IG I	BIDS FOR PRINTER	R AN			
	OPEN-E	NU SIA	IEMIN	L LON	TWAL	,, ju	TA CTA	TE	AGENCIE	S			
	AND PO	DGES F	UK AL	DIVIC	TONG	; KOTH	TW SIL	4 1 L	MOENCIL	.0			
PERSONAL	AND PU	LITTCA	L SUD	DIVIS	TON	•							
	MANDAT	ORY PR	E-BID	: A M	AND	ATORY	PRE-I	3 I D	WILL BE	HELD			
	AT THE	PURCH	ASING	DIVI	SIO	V, BU	ILDIN	÷ 1	5, 2019				
	WASHIN	GTON S	TREET	, EAS	1, 1	JHAKL	ESTUR;	W	V 25305;	, }			
La company	OCTOBE	R II,	2006,	MOTHA Motha	IA U	7. F 7.	NICOLO		O ATTENI IFY A VE	NDOR			
L	FROM B	EING V	MYEDE	n A c	ONTI	PACT.	DIOGO		# F F W W	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			
	FRUIT D	EINO M	MARDL	<i>D</i>				Ì					
]					
					011	24 0	7 007						
0001		_	EA		966	-24-0	1-001						
	COMPUT	re i ac	E D C V	PTPTN	CES	. TNK	JETS 8	s R	TBBONS				
	COMPUI	EK LAS	EK CA	KIKID	GLJ	,	. V 1	^ ``]					
			tion of the second										
	-				ļ				. mrwaul		13		
	BIDDER	S MUST	BID	ACTUA	LNI	EW CA	KIKID	3E 0	; REMANU	STUNE Banner	<i>Li y</i>		
	COMPA	TIBLE"	UKU	HEK	USE	U AKE	VEDC I	n E.K	MITTED. Y NEW UI	JIDDEN VITS.	. •		
	DDODUC	EKIIFY	THAI	C BEE	N D	EBILTI	T WITI	1 41	NEW" MA	TERIAL	DO		
	NOT OU	, IS IRP Ialtev	EOR T	HIS C	ONT	RACT.	ALL	ΙT	EMS BID	MUST B	E		
	DRICIN	IAL MAN	UFACT	URER	BRA	ND SP	ECIFI	ED.	,				
								j					
	BIDDER	S MUST	SIGN	THE	PRI	CING	SCHED	ULE	VERIFY	ING			
	THE IT	EMS BI	D WEE	T THE	SP	ECIFI	CATIO	NS.	BIDS				
				THIS	SIG	NATUR	CE VAL	TNA	TION MA'	Y DE TUE			
	BE DIS	QUALIF	HED.	RIDD	EKS	AKE	KEUUE:	> E	D TO TYI	re (ne			
,			1										
	1		<u> </u>	<u></u>	<u>L</u>			A 22.2	I BONONIA CONTRA	20 San 2000 San 200	:::'da;''2'	<u> </u>	
SIGNATURE 6		-//		SEERE	VERSE	SIDE FOR	TERMS AN	AE IN COL	MOUTIONS		DATE		7_
SIGNATURE	X					·		619	-216-356	7		10/10/	
Govil Sales	Manage	20	EIN 55	-090=	217	3			DA			TO BE NOT	

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125.00 registration fee.
- 5. All services performed or goods delivered under State Purchase Orders/Contracts are to be continued for the term of the Purchase Order/Contract, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- 12. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 13. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, this contract is automatically null and void, and is terminated without further order.
- 14. HIPAA Business Associate Addendum The West Viginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Covered Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in cases of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 6. BID SUBMISSION: All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications.

SIGNED BID TO:

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130



DOCUME

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation INKCRT07

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

E-milaf											
The state of the s		l Samer	MENERAL	e diamenta	SHIP VI	ΔZZZZZZZZZZZ	2000 (1000)	0.8	83.10	FREIGH	T TERMS
DATE PRIN		1.8.2.3.2.150	MOUT OAL		<u> </u>		200000000000000000000000000000000000000			<u> </u>	<u> </u>
09/25/ BID OPENING DATE:		10/26/	2006			RID	OPENING	TIME	ומ	:30PM	·····
LINE LINE	F 17.1.38 519 9	10/24/ NTITY	UOP	CAT NO	ITEM NUM			IT PRICE		V 14 50 1805	OUNT:
	DOCUME	IATION INT AND IFRANCI	IS A	VAILA	CING PAGES BLE BY SEI N.GOV	S. THI NDING A	S IS AN N E-MAI	EXCEL L REQUE	ST		
	ANY LO	RICES I DCATION IM ORDE	WITH	E ALL IN WE	SHIPPING ST VIRGIN	CHARGE IA. TH	S TO ERE IS	NO			
	ITEM(S	S) MUST I 24 HO	BE D URS A	ELIVE FTER	RED TO TH	E ORDER F THE O	ING LOC RDER.	ATION			
	NAM ADI TEL	1E: 八へ DRESS	NUMB	ER: G	THIS CON 19-214-351 6261		s:				
	ATTACH	IMENTS:	1.	PRIC	ACHED PRI ING SCHED DAVIT						
	EXHIB	L 1 5									
	YEAR (NECESSORIGINOT EXTIME" REASON WRITTE	SARY TO NAL CON KCEED T THE VE N UPON EN NOTI	L SUC OBTA TRACT WELVE NDOR GIVIN CE.	H "RE IN A (12) MAY THE	IS CONTRA EXTENDS ASONABLE NEW CONTR E "REASON MONTHS. ERMINATE DIRECTOR IONS ARE	FOR A F TIME" T ACT OR ABLE TI DURING THIS CO OF PUF	ERIOD OF HEREAFT RENEW TO ME" PER STHIS "ON TRACT RCHASING	F ONE (ER AS) HE IOD SHA REASONA FOR ANY 30 DAY	(1) IS ALL ABL Y		
Let 31213704 1 3100	<u>.</u> Sp. 20, 20, 20, 20, 20, 20, 20, 20, 20, 20,			SEERI	VERSE SIDE FOR T	ERMS AND CO	NOITIONS		337 S. 3 20 58		
SIGNATURE	<u>a partiri de la companyo de la comp</u>		and the second s			TELEPHONE			DATE		
TITLE		F	EIN	,		I	AI	DDRESS CHA	NGES	TO BE NOT	ED ABOVE



NOOZU

BID OPENING DATE:

LINE

09/25/2006

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

DATE PRINTED TERMS OF SALE

(1) YEAR PERIODS.

QUANTITY

CONTRACT.

OF WORK.)

THE STATE SPENDING UNIT.

10/24/2006

UOP

Request for REQUIMBER Quotation

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO

304-558-0468 ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS

VARIOUS LOCALES AS INDICATED

RFQ COPY TYPE NAME/ADDRESS HERE

CAT.

BY ORDER SHIPVIA F.O.B. FREIGHT TERMS 01:30PM BID OPENING TIME AMOUNT UNITPRICE ITEM NUMBER PRICING SET HEREIN ARE FIRM FOR THE LIFE OF THE RENEWAL: THIS CONTRACT MAY BE RENEWED UPON THE MUTUAL WRITTEN CONSENT OF THE SPENDING UNIT AND VENDOR, SUBMITTED TO THE DIRECTOR OF PURCHASING THIRTY (30) DAYS PRIOR TO THE EXPIRATION DATE. SUCH RENEWAL SHALL BE IN ACCORDANCE WITH THE TERMS AND CONDITIONS OF THE ORIGINAL CONTRACT AND SHALL BE LIMITED TO TWO (2) ONE CANCELLATION: THE DIRECTOR OF PURCHASING RESERVES THE RIGHT TO CANCEL THIS CONTRACT IMMEDIATELY UPON WRITTEN NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICES SUPPLIED ARE OF AN INFERIOR QUALITY OR DO NOT CONFORM TO THE SPECIFICATIONS OF THE BID AND CONTRACT HEREIN. OPEN MARKET CLAUSE: THE DIRECTOR OF PURCHASING MAY AUTHORIZE A SPENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILING OF A REQUISITION OR COST ESTIMATE, ITEMS SPECIFIED ON THIS CONTRACT FOR IMMEDIATE DELIVERY IN EMERGENCIES DUE TO UNFORESEEN CAUSES (INCLUDING BUT NOT LIMITED TO DELAYS IN TRANS-PORTATION OR AN UNANTICIPATED INCREASE IN THE VOLUME QUANTITIES: QUANTITIES LISTED IN THE REQUISITION ARE APPROXIMATIONS ONLY, BASED ON ESTIMATES SUPPLIED BY IT IS UNDERSTOOD AND AGREED THAT THE CONTRACT SHALL COVER THE QUANTITIES ACTUALLY ORDERED FOR DELIVERY DURING THE TERM OF THE CONTRACT, WHETHER MORE OR LESS THAN THE QUANTITIES SHOWN. ORDERING PROCEDURE: SPENDING UNIT(S) SHALL ISSUE A WRITTEN STATE CONTRACT ORDER (FORM NUMBER WV-39) TO

DATE

ADDRESS CHANGES TO BE NOTED ABOVE WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

TELEPHONE

SEE REVERSE SIDE FOR TERMS AND CONDITIONS

THE VENDOR FOR COMMODITIES COVERED BY THIS CONTRACT.

SIGNATURE TITLE



MOOK

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation INKCRT07

INKCRT07

BETTY FRANCISCO 304-558-0468

SENCIES CAL SUBDIVISIONS LES AS INDICATED BY ORDER

ADDRESS CORRESPONDENCE TO ATTENTION OF

RFQ COPY TYPE NAME/ADDRESS	HERE	SE	ALL STATE AG AND POLITIC VARIOUS LOCA
		12.53	

DATE PRINTED	TÉ	RMS OF SALE	SHIP VIA	FO.B	FREIGHT TERMS
09/25/2006		·			
BID OPENING DATE:	10/24/	6. 15. Section 6.268 (6.882) 833–833	BID	OPENING TIME 01	:30PM
LINE	YTHTAL	UOP CAT	ITEM NUMBER	UNIT PRICE	AMOUNT
	<u> </u>				
- III	O TO TALAL	CODY OF T	HE WV-39 SHALL B	E MATIED TO THE	
			N FOR SHIPMENT,		,
MATI	IN AS AL	HE PURCHAST	NG DIVISION, AND	A THIRD COPY	
RETAI	NED BY	THE SPENDI	NG UNIT.		
BANKI	RUPTCY:	IN THE EV	ENT THE VENDOR/C	ONTRACTOR FILES	
			ION, THIS CONTRA		
CALLY	/ NULL /	AND VOID, A	ND IS TERMINATED	WITHOUT FURTHER	
ORDER	₹.				
				TUTO CONTRACT	
THE	TERMS A	ND CONDITTO	NS CONTAINED IN	TERMS AND	
SHALI	SUPER	SEDE ANY AN	D ALL SUBSEQUENT PPEAR ON ANY ATT	ACUED DOTATED	:
COND	TITUNS !	MUTCH HALL	E LISTS, ORDER F	ORMS. SALES	
ACDE	MENIS S	DE MATNTENA	NCE AGREEMENTS,	INCLUDING ANY	
FIEC	FRONTC !	MEDIUM SUCH	AS CD-ROM.		
	. , , , , , , , , , , , , , , , , , , ,				
		VENDOR PR	EFERENCE CERTIFI	CATE	
	,	N AND ADDI	ICATION* IS HERE	BA WYDE EUD	
			CE WITH WEST VIR		
			Y TO CONSTRUCTION		
	01 (20.			• • • • • • • • • • • • • • • • • • • •	
A. /	APPLICA	TION IS MAI	E FOR 2.5% PREFE	RENCE FOR THE	
l i	ON CHEC	1 1			
	BIDDE	R IS AN INI	IVIDUAL RESIDENT	VENDOR AND	
HAS I	RESIDED	CONTINUOUS	LY IN WEST VIRGI	NIA FUK FUUK	
			PRECEDING THE DA	IE OL IUTO	
CERT	IFICATION	UNT UK			
	RINNE	R TS A PART	NERSHIP, ASSOCIA	TION OR CORPORA-	
TTNN	RESIDE	NT VENDOR A	ND HAS MAINTAINE	D ITS HEAD-	
QUAR"	TERS OR	PRINCIPAL	PLACE OF BUSINES	S CONTINUOUSLY I	
		1			
SIGNATURE	BUT ARMES	SEE RE	VERSE SIDE FOR TERMS AND CO	DATE	
	.,,			L	
TITLE		FEIN		ADDRESS CHANGES	S TO BE NOTED ABOVE



DOUZEN

RFQ COPY

TYPE NAME/ADDRESS HERE

П

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Guotation INKCRT07

INKCRT07

PAGE

ADDRESS.CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

OH A-HO

DATE PRINTED	ERMS OF SALE	SHIPVIA		i de la constantina	о,в.		FREIGHTTERMS
09/25/2006						Ļ_	
BID OPENING DATE: 10/20	/2006	BI	D OP	ENING	TIME	01	:30PM
LINE QUANTITY	UOP CAT NO	ITEM NUMBER		UNI	TPRICE		AMOUNT
		,					
WEST VIRGI	IIA FOR FOUR	(4) YEARS IMM	EDIA	TELY F	PRECEDI	NG	
THE DATE OF	THIS CERTI	FICATION; OR 8	ט אט	P INE	UWNERS:	HIL	
INIERESI U	ACCOUTATE	HELD BY ANOTHE ON OR CORPORAT	TON	RESIDE	NT VEN	กกล	
HUU HV6 WV	NTAINED ITS	HEADQUARTERS	OR P	RINCIF	AL PLA	CE	
OF BUSINESS	CONTINUOUS	LY IN WEST VIR	GINI	A FOR	FOUR (4)	
YEARS IMME	IATELY PREC	EDING THE DATE	OF	THIS			
CERTIFICAT							
					100		
() BIDDE	R IS A CURP	ORATION NONRES	, MAI	CH EWE	PLOVS		
WHICH HAS A	JE UNE HINDE	ED STATE RESIL	ENTS	AND V	WHICH		
HAS MATNTA	NED ITS HEA	QUARTERS OR PR	INCI	PAL PI	ACE OF		
BUSINESS W	ITHIN WEST V	IRGINIA CONTIN	เบดบร	LY FOR	THE		
FOUR (4) YI	EARS IMMEDIA	TELY PRECEDING	HE	DATE	OF THI	S	
CERTIFICAT	I DN .						
T APPLICA	TTON TO MAT	E FOR 2.5% PRE	EEDE	NCE EC	OR THE		
REASON CHE		E FUR 2.3% FRE			J1		
REAGON CHE							
		DENT VENDOR WI					
DURING THE	LIFE OF THE	CONTRACT, ON	AVER	RAGE A	T LEAST		
75% OF THE	EMPLOYEES W	ORKING ON THE	PROJ	ECT BE	EING BI	D	
ARE RESIDE	NTS OF WEST	VIRGINIA WHO	IAVE	RESIDE	STATELV Statelv	,	
		FOR THE TWO \ F THIS BID;	EARE	> T444E1	DINIEEL		
OR OR	SUBILISSION C	HILL DID					
() BIDDI	ER IS A NONE	ESIDENT VENDOR	R EMF	PLOYING	9 A		
MINIMUM OF	ONE HUNDRED	STATE RESIDE	ITS C	OR IS	4		
		H AN AFFILIATE					
		ADQUARTERS OR					
OF BUSINES	S WITHIN WES	T VIRGINIA EMP	LUY!	ING A !	TUNT MUNIMUM	İ	
OF ONE HUND	UKED STATE N	ESIDENTS WHO (CONTRACT, ON	AVER	SAGE A.	COMI) T LEAST		
DUKING THE	EWBLOALES U	R BIDDERS' AFF	ILIA	TE'S	OR		
SUBSIDIARY	S EMPLOYEES	ARE RESIDENTS	OF	WEST '	VIRGINI	Α	
		 VERSE SIDE FOR TERMS AN	1				
SIGNATURE	e january made he	TELEPHON				DATE	
TITLE	FEIN		~~ , ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	AD	DRESS CHA	NGES	TO BE NOTED ABOVE



MODZEN<

RFQ COPY

Ħ

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation INKCRT07

OH-P

INKCRT07

BETTY FRANCISCO 304-558-0468

ADDRESS.CORRESPONDENCE:TO:ATTENTION:OF:

TYPE NAME/ADDRESS HERE

DATE PRINTED TE	RMS OF SALE SHIP VIA	F.O.B. FREIGHT FERMS
09/25/2006		
BID OPENING DATE: 10/24		PENING TIME 01:30PM
LINE QUANTITY	UOP CAT. ITEM NUMBER	UNIT PRICE AMOUNT
1 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	SIDED IN THE STATE CONTINUOUS	CIV END THE TWO
WHU HAVE KE	IATELY PRECEDING SUBMISSION	OF THIS RID.
	THIELI I KEGEDIKO GODIII GOLON	
RIDDER UNDE	RSTANDS IF THE SECRETARY OF	TAX & REVENUE
DETERMINES	THAT A BIDDER RECEIVING PREFE	ERENCE HAS
FAILED TO C	ONTINUE TO MEET THE REQUIREME	ENTS FOR SUCH
	THE SECRETARY MAY ORDER THE	
	TO: (A) RESCIND THE CONTRACT	
ORDER ISSUE	D; OR (B) ASSESS A PENALTY AG	GAINST SUCH
BIDDER IN A	N AMOUNT NOT TO EXCEED 5% OF	THE BID AMOUNT
AND THAT SU	CH PENALTY WILL BE PAID TO THE	HE CUNIKACIING
	EDUCTED FROM ANY UNPAID BALAN	NCE ON THE
CUNTRACT OR	PURCHASE URBER.	,
RV SIRMISST	ON OF THIS CERTIFICATE, BIDDE	ER AGREES TO
DISCLOSE AN	Y REASONABLY REQUESTED INFORM	MATION TO THE
	DIVISION AND AUTHORIZES THE I	
TAX AND REV	ENUE TO DISCLOSE TO THE DIREC	CTOR OF
PURCHASING.		
-	NOTICE	
AN OPTOTNAL	, SIGNED BID MUST BE SUBMITTE	ED TO.
AN URIGINAL	STONED BID MOST BE SOBUTULE	ED 10.
DEPART	MENT OF ADMINISTRATION	
	SING DIVISION	
BUILDI	1 1 1 1	
	ASHINGTON STREET, EAST	
CHARLE	STON, WV 25305-0130	
		.00 414
MANDATORY P	RE-BID: OCTOBER 11, 2006, 11:	
	LOCATION: 2019 WASHII CHARLESTON	l l
	PURCHASING	
	BUILDING 1!	
	SEE REVERSE SIDE FOR TERMS AND CONDI	OTTIONS DATE
SIGNATURE		
TITLE	FEIN	ADDRESS CHANGES TO BE NOTED ABOVE



RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation INKCRTO

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO

304-558-0468

DATE PRIN	TED	ें ्रा ट	RMS OF SA	LE	S)	HP VIA	F.	O.B	FREIGHT TERMS
09/25/	2006								
BID OPENING DATE		10/24	/2006			BID	OPENING	TIME 0	L:30PM
LINE	QUA	VTITY	UOP	CAT NO	JTEM	NUMBER	UNI	TPRICE	AMOUNT
		(.							
	BUYER:			BE	TTY L.	FRANCISCO	- FILE	42	
	RFQ. N	D.:		IN	KCRT07-			and the state that the state and state and	•
Annual Vision Control of Control	BID OP	ENING	DATE:	Tu	ESDAY,	OCTOBER 2	4, 2006-		
	BID OP	ENING	TIME:	1:	30 P.M.				-
:	PLEASE	PROV	DE A	FAX N	UMBER I NG YOUR	N CASE IT	IS NECE	SSARY	
	IO CON		OU KE		-421-		00FT		
- -	CONTAC	T DED	CON (D	LEASE	потыт	CLEARLY):		, and and page	
	CONTAC	1 F E, B, S	ON CI		dy B				
					J				
	-					:			
	*****	THIS	IS T	HE EN	D OF RF	Q INKCR	T07 ***	:** TOTAL:	761,313,27
								, , , , , ,	
						;			
,									
	<u> જુના કે જે ફેર્સ્ટ ફર્સ</u>			SEE RE	VERSE SIDE FO		VOITIONS		
SIGNATURE						TELEPHONE		DATE	
TITLE	······	F	EIN				ADD	RESS CHANGES	TO BE NOTED ABOVE

Pric	ing Schedule II	NKCRT07 - B	ID OPENING 10/	24/2006, 1:30 PN
Item #	Cartridge #	Estimated Quantity	Unit Cost	Total
11-44	Deeleard			
Hewlett	Packard T			
1	51626A	50	\$25.62	\$1281.15
	51629A	90	\$25.62	\$2306,08
2 3	51641A	50	\$26,33	\$1316.27
4	51645A	600	\$23,26	\$13956,78
5	51649A	90	\$26,33	\$2369,29
<u> </u>	92274A	70	\$ 79.a3	\$ 5546,17
 7	92291A	85	\$ 113.06	\$9604.83
8	92298A	45	\$82.04	\$3691.83
9	C1823D	99	\$26.12	\$2576.07
10	C3900A	35	\$ 120.71	\$4225,01
<u></u> 11	C3903A	50	\$70.01	\$ 3500.39
12	C3906A	50	\$53.00	\$2649.85
13	C3909A	70	\$ 149.73	\$10480.92
14	C4092A	60	\$ 46.07	\$2764.48
15	C4096A	55	\$ 78.13	\$4297,23
16	C4127X	100	\$99,44	\$9943.82
<u>17</u>	C4129X	70	\$ 127.62	\$ 8933.15
18	C4151A	40	\$ 37.92	\$5516.75
19	C4152A	40	\$ 137.92	\$7516.75
20	C4153A	40	\$ 121,92	\$4876.63
<u>20</u> 21	C4154A	15	\$ 3/3.58	\$4703,77
22	C4155A	15	\$ 253,32	\$3799,79
<u>22</u> 23	C4182X	45	\$ 146,80	\$6605.80
24	C4191A	60	\$ 66,88	\$4012,96
25	C4192A	60	\$ 97,08	\$5824.59
<u> 26</u>	C4193A	60	\$ 47.08	\$5824.59
27	C4194A	60	\$97.08	\$ 5824.59
21 28	C4195A	80	\$63.61	\$ 5089,19
20 29	C4196A	30	\$167,29	\$ 5018,64
30	C4197A	20	\$ 196.42	\$3928,46
31	C4800A	80	\$25.99	\$2079.16
32	C4801A	80	\$25,99	\$2079,16
<u>32</u> 33	C4802A	80	\$25,99	\$ 2079,16
34	C4803A	85	\$25,99	\$2209.11
35	C4804A	85	\$50,28	\$4273.72
36	C4805A	80	\$50,28	\$4022,32
30 37	C4806A	80	\$50,28	\$4022,32
51	LU48UBA	ØU	1970,38	19409012

Pric	ing Schedule IN	KCRT07 - B	ID OPENING 10/	24/2006, 1:30 PM
	Cartridge #	Estimated Quantity	Unit Cost	Total
Item#	C4810A	85	\$ 25.99	\$ 3209.11
88	C4811A	40	\$ 25.99	\$1039,58
39	C4812A	40	\$25.99	\$1039.58
10	C4813A	40	\$25.99	\$1039.58
11	C4841A	40	\$25.46	\$ 1018,41
12	C4842A	40	\$25.46	\$ 1018-41
13		40	\$25,46	\$1018.41
<u> 14 </u>	C4843A	45	\$25.46	\$1145,71
45	C4844A	40	\$25.46	\$ 1018.41
46	C4921A	40	\$90.98	\$ 3639.15
47	C4922A	40	\$40.98	\$3639.15
48	C4923A	80	\$22.57	\$1805,52
49	C5010AN	85	\$17.02	\$1446.78
50	C5011AN	60	\$ 53.93	\$ 3236.02
<u>51</u>	C5023A	60	\$ 53.93	\$ 3236.02
52	C5024A	60	\$ 53.93	\$ 3236.02
53	C5025A	65	\$ 53.93	\$350569
54	C5026A	300	\$ 44.95	\$13486,46
55	C6578AN	310	\$ 26.12	\$8097,78
56	C6578DN	200	\$19,60	\$3919.30
57	C6614DN	140	\$ 22.19	\$ 3/06,94
58	C6615DN	90	\$24.16	\$2174,14
59	C6625AN	80	\$25-62	\$2049.84
60	C6628AN			\$6597,25
61	C6656AN	420		\$ 5616.20
62	C6657AN	215		\$ 2011.67
63	C6658AN	105	\$ 19.16	\$ 5753,74
64	C7115A	120	\$ 47.95	\$ 14418.54
65	C8061X	145		\$ 6/15/19
66	C8543X	75	\$214.87	\$ 1800.59
67	C8727AN	125	<u>\$[4,40</u>	\$ 1856.63
68	C8728AN	110	\$16,88	\$ 3226,04
69	C9700A	50	\$64.52	\$3885.71
70	C9701A	50	\$77.71	\$4274,28
71	C9702A	55		\$3885.71
72	C9703A	50	\$77-71	
73	C9704A	50	\$13428	\$ 6714,25
74	C9720A	60	\$120,74	\$7244.70
75	C9721A	60	\$163.37	\$ 9802.12
76	C9722A	60	\$163,37	\$9802.17
77	C9723A	60	\$163,37	\$ 9802.12

Pric	ing Schedule II	NKCRT07 - B	ID OPENING 10	/24/2006, 1:30 PM
		Estimated		
Item #	Cartridge #	Quantity	Unit Cost	Total
78	C9730A	50	\$174.62	\$ 8730.88
79	C9731A	40	\$245.05	\$ 9802.12
80	C9732A	40	\$245.05	\$ 9802.12
30 81	C9733A	40	\$245.05	\$ 9802.12
82	Q1138A	100	\$119.33	\$11933,00
<u>02</u> 83	Q1339A	90	\$158.63	\$14277.14
84 ·	C4836A	45	\$25.97	\$1168.61
85	C4837A	50	\$25.46	\$ 1273.01
86	C4838A	30	\$25.46	\$ 763.61
87	C9362WN	65	\$11.99	\$ 7.79.48
88	C9361WN	70	\$ 15.35	\$1074.60
89	C8766WN	70	\$18.64	\$1304.77
90	C8767WN	95	\$ 23.55	\$2236.90
90 91	C9351AN	55	\$11.99	\$659,56
92	C9352AN	60	\$13.81	\$838.86
93	C4190A	45	\$63.61	\$2862.67
94	Q2670A	20	\$102,99	\$2059,82
95	Q2671A	20	\$102.40	\$ 2048.01
96	Q2672A	20	\$102.40	\$2048.01
97	Q2673A	20	\$102-40	\$2-048-01
98	Q3960A	30	\$64.52	\$1935.63
99	Q3961A	30	\$77.71	\$2331.42
100	Q3962A	30	\$77.71	\$2331.42
101	Q3963A	30	\$77.71	\$2331-42
102	Q3946A	30	\$134.28	\$4028,56
102	Q2612A	40	\$54.45	\$3178,11
103	Q6511A	30	\$96.49	\$2894.58
105	Q5949A	100	\$55.64	\$ 5564.39
106	Q2613A	40	\$55.64	\$ 2225.76
107	Q2610A	40	\$93.52	\$ 3740.95
108	Q2624A	100	\$55-64	\$5564,39
100	QZUZ-7/\	100	Subtotal	\$ 477,323.78
Lexmai	rk			
109	08A0477	50	\$129.48	\$6473.97
110	12A0725	40	\$278.17	\$11126,74
111	13T0101	50	\$131.80	\$6590.02
112	17G0152	40	\$105.77	\$ 4230.81
113	12A1970	90	\$25.10	\$2259,35

Pric	ing Schedule IN	NKCRT07 - B	ID OPENING 10/	24/2006, 1:30 PM
		Estimated	Unit Cost	Total
Item#	Cartridge #	Quantity	\$.24.55	\$2511.97
114	15M0120	85 45		\$1648.24
115	16G0055		\$ 36.63 \$ 23.54	\$218,25
116	17G0050	90		\$222961
117	17G0060	80	\$ 27.86	\$2229.01 \$77406.60
118	1382150	100	\$274.07	\$ 19848,46
119	1382925	110	\$ 180.44	
120	12A5845	100	\$255,23	\$25523,30
121	12A6865	105	\$285,57	\$29984.78
122	12A6835	105	\$255.23	\$26 799,46
123	10N0217	60	\$14,92	\$895,43
124	10N0227	60	\$16.24	\$974,23
125	1382050	40	\$30,27	\$1210.61
126	1382060	45	\$ 33.44	\$1504.86
127	18L0000	45	\$ 35.83	\$1612.51
128	15M2971	45	\$15,93	\$716,93
129	12A7465	120	\$893,57	\$35228,50
130	24015HY	100	\$61.98	\$6197.58
131	15W0900	10	\$ 166.52	\$ 1665,24
132	15W0901	10	\$166.52	\$1665.24
133	15W0902	10	\$166.52	\$1665,24
134	15W0903	10	\$111.37	\$1113.69
135	15W090K	10	\$ 140.02	\$1400.16
136	20K0500	15	\$ 94.93	\$1423.93
137	20K0501	10	\$ 94,93	\$949,29
138	20K0502	15	\$94,93	\$1423,93
139	20K0503	10	\$83.16	\$831.60
140	1361750	15	\$129,41	\$1941.12
141	1361751	15	\$ 74.99	\$1124.79
142	1361752	15	\$68.95	\$1034.24
143	1361753	10	\$68,95	\$689,49
144	1361754	15	\$68,95	\$ 1034,24
145	4K00199	20	\$204,76	\$4095.21
146	1380950	20	\$266,23	\$ 5324.55
147	12A7462	20	\$272.01	\$5440.19
148	64015HY	20	\$157.14	\$3142.77
149	10B042K	20	\$157.14	\$3142.77
150	10B042C	20	\$334,97	\$6699.46
151	10B042M	20	\$334,97	\$6699.46
152	10B042Y	20	\$334.97	\$6699,46
			Subtotal	\$276297.68

Item#	Cartridge #	Estimated Quantity	Unit Cost	Total
Epson Ir	nkjet			
			A 3 - 2 2	0.0.0.0
153	T003011	40	\$ 23,97	\$ 958,96
154	T005011	45	\$28.99	\$1304.67
155	T007201	45	\$17.84	\$ 802,59
156	T008201	40	\$14.45	\$577.82
157	T009201	40	\$21.74	\$869,78
158	T019201	30	\$21.74	\$652.33
159	T020201	20	\$ 18.09	\$361,80
160	T032120	40	\$25.42	\$1016.78
161	T032220	40	\$ 956	\$ 382,36
162	T032320	40	\$9.56	\$382.36
163	T032420	40	\$9.56	\$382,36
			Subtotal	\$ 7691.81
			GRAND TOTAL	\$761313,2
	ndy Birkel		name) representing ler penalty of law fol	r fraud, that items
priced ab	ove are new tone	r/inkjet cartrig	ges; these products as specified.	are not "remanufcture

Corrections

Line Item # 49 is listed as C5010AN and should be C5010DN Line Item # 50 is listed as C5011AN and should be C5011DN Line Item # 82 is listed as Q1138A and should be Q1338A Line Item # 93 is listed as C4190A and should be C4195A Line Item # 102 is listed as Q3946A and should be Q3964A Line Item # 130 is listed as 24015HYand should be 240155A Line Item # 135 is listed as 15W090K and should be 15W0904

RFQ	No.	INKCRT07

AFFIDAVIT

West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions.

"Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION:

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

LICENSING:

The vendor must be licensed in accordance with any and all state requirements to do business with the state of West Virginia.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name: Super W	Parehouse, Gov	'	·····			
- //-	PI	Date:	10/	10/	2006	
Authorized Signature:	7 /					
No Debt Affidavit Revised 02/08/06						